. . (2)
A Printed Pages : 7

(20623) Roll Ne. ......ccoovvse 3. What are the conditions under which a deadlock
BCA. -1V Sem.
- situation may arise ?
18017
B.C.A. Examination, June-2023 4. What are the various Disk-Scheduling
OPERATING SYSTEM
H -
(BCA-402) Algorithms
Time : Three Hours] fMaximum Marks : 75 S,  Write briefly about file attributes, operations, types
Note : Attempt questions from ali sections as per and structure.
. - F '}
mstructions. setion-B
Section—A
uestions)
(Very Short answer Type Questions) (Sh“” Answer Type Q
Note : Attempt all five questions. Each question carries Note : Attempt any fwo questions. Each question carries
3 marks. =
33715 7 5 marks 2x7.5=15
1.  What is an Operating System ? State different types
of 057 - 6. Discuss in detail about file allocation methods. What
2.  Explain the different process states with the help of are the possible structures for directory ? Discuss
state diagram.
them in detail.
18017 [P.T.O.
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7. What is the imponant feature of the critical section?

State the dining philosopher’s problem and show how

o allovate the several resources among several

processes in a deadlock and starvation free manner.

8.  Explain with the help nfgamplﬁ FIFO and LRU,
.- Q
optical page mplm&&t algorithms with example
N :
reference .'v,tringQ tion the merits and dements

] of each of ﬂi&ove algorithms.
Sttﬁun_—c
(Long Answer Type Questions)

Note : Attempt any three questions. Each questios

carries 15 marks. 3x15=4:

9, Consider the following five processes, with tt

length of the CPU burst time given in millisecon

18017 (P T

(4)

Process

Burst time
Pl 10
P2 29
P3 3
P4 7
PS5 12

Consider the First come First serve (FCFS), Non-
Preemptive Shostest Job First (SJF), Round Robin
(RR) (quantum=10ms) scheduling algorithms.
Illustrate the scheduling using Gantt chart. Which
algorithm will give the minimum average waiting
time ? Discuss.

10. (i) Constructa Resource Allocation Graph for the

following scenario. At time 't' Process Pl

request for a resource X, process P2 requests

18017
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017

(S)

for a resource Y. Both the resources are

Available, and lhéy are allocated to the

requesting process. At time t, where t, 7 &

both the processes are still holding the

resources, however process P1 request for Y
K\Q

which is held by P2?G ss P2 request for X

W
hcldhypl.vr@%ﬁm)emeadimk? If there

is a deadlock discuslthe four necessary

conditions for deadlock. else justify there is

no deadlock.

With relevant example show that the

implementation of a semaphore with a waiting

queue may result in deadlock.

It

(6)

0 c}fﬁ!‘ldcrg
Suppose that the disk drive has 500

rving @
" 7 - » ll Sc 'ng
number 0 to 4994 | e drive I8 currently

[ equest was
request at cylinder 143 and the previous red
i st in FIFO
at 125, the queuc of the pending regues

9, 1022,
order is : 86, 1470, 913, 1174, 948, 150

e current head position,

he disk

1750. 130 starting from th
i |
what is the total distance (cylinders) that

arm moves to satisfy all the pending requests for

each of the disk scheduling algorithms.
(i) SSTF
(ii) SCAN

(iii) LOOK

(iv) C-LOOK

18017
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12. What do you understand by fragmentation 2 Explain

Dynamic Storage-Allocation Problem and

segmentation in detail.

13. ExplainFile System Structure. What are File System
Organization and File Sys@. Mounting ? Discuss
the various file Ailoc@on Methods in detail.

&Q
@
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